SHxTE 68 TEFE
A |’ 2 K T = A | 2 KR 1T =
1|l 17| A| 3&E BiIESKEFHAS
RIG—IVHooE5—FK
2|8 18| k| ZwikpEn
PTAS=/\L—#& & (20:00){A B £E
F1AE XBEIRE REFHMSEE

3|A| #HEEE(~6/211FK-HE 19|7/k| E3KE
J—=TUE - )=h"=L=)=2y}

REHHN4EE N

4| k| ek RMPEFHBEAR14:00~ |20 K| Fixzl pime
PTAS=/\L—#&E(20:00)/A B £E =
REFESHE

S1X| 1#-aEmEmBe:30 21|%

6 FREZWHSR - HEX 22 R As e e
Uib")gﬁg T-HEKPTA\—I\L’ 7|7\ )bt%({*%ﬁﬁ)
REHRM (FEH) = =

T|E| smErariEns 298| BRRL

8|+ 24| B| 4EREMFES

L 2EERRE

°|H 28\ K 2p—hbs—kt
TAETERES P LE(~13R) . .

10| A (%25 | IBE 26| K| Zvit¥HxO

N L % P2 o i 357 fE =

X prazzsL—gmaesomase |27 %] 1FPREE
SRS o e st A
%1 @E/ﬁsﬂj__xl\ ~ N R RS ~

13K B i 29| x| BHEECIRSURY)
FE1REH TR e

14 E E1ma-dA TS AU |30 B | RFEROIRSSAL)

15|

SEETREZ 19:00
16/ g| FESHE

D= X%




